SH2F48 OHERXREEPITIKR

#iTH XHEEE BNE nEF BHEEE SEE ZDith
98 6,600 O
&% 6,600 |(144)
SI2E5 A DHERXRBEHITIKER
#iTH XHEEE S5 & nEF EHEEE 2EF ZDith
228 5,000 O
=5 5,000 |(144)
SI2E6 B DHEXRBEEHITIKER
#iTH XHEEE S5 & nEFE EHEEE 2EF ZDith
38 10,000 O
198 16,5004 O
=5 26,500 |(244)
SH2ETAOHEXRBEERITIRR
#]iTH XHEEE B & nEFE PEEF SEE ZDith
98 6,600 O
108 5,000 @)
278 4,692MH O
288 4,500/ O
=1 20,792 [(444)
SI2E8 A DHEXRBEEHITIKR
#1iTH XHEEE BNE nEF BHEEE SEE ZDith
18H 4,459 O
18H 10,307H O
218 10,000 O
258 16,5004 O
298 10,000 O
318 16,5004 O
=5 67,766 |(644)




SH2FIA OHEXREEPITIKR

#1718 XHEEE BHE s RESE SBE T Dth
18 10,000 O
48 16,500 O
7H 10,000 O
108 16,500 O
158 15,000 O
158 4,385M O
178 10,000 O
2580 16,500 @)
= 98,885 |(81%)
FH2E10A DHERRFEEMITIRNE
#$iTH XHEEHE BNE nEsE BEEE =EF ZTD1th
8H 10,000 O
138 6,600 O
138 10,000 @)
198 10,000 O
198 10,000 @)
20H 16,500 O
208 16,500 O
20H 16,500 O
23H 10,000 O
= 106,100 |(944)
FH2F1TAOHEXRBEERITRG
#$iTH XHEEHE BNE nEs BHEEE SEF ZTD1th
128 10,000 O
168 16,500 O
=1 26,500 |(244)
FR2F12A DT ERBEEBITIRA
#1718 X HEEE BNaE % RESE =E% T Dt
8H 7,370M O
8H 30,238M O
168 10,000 O
22H 16,500 @)
= 64,108 |(444)




SH3FE1AOHEXREEPITIKR

#1718 XHEEE BHE s RESE EE T Dth
198 10,000 O
22H 16,500 O
Bt 26,5009 |(214)
FH3F2A DTHERBFEEMITIRER
#$iTH XHEEHE BN&E nEsE BEEE %3 ZTD1th
108 13,200 O
=1 13,200/ |(144)
FHB3FEIADTHERFEEMITIREG
#$iTH XHEEHE BNE nEs BHEEE 43 ZTD1th
2R 26H 10,000 O
27H 10,000 O
3A1H 16,500 O
18 16,500 O
48 10,000 O
98 10,000 O
108 16,500 O
108 16,500 O
268 10,000 O
29H 16,500 O
=1 132,500 |(1044)




